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BT 4 | A 5K 7 % > mpOT 4 | MR 3R 7 = = myOT 4 | %K ) 7 P myOT 4 | 3 7 = =
w1 T H 242 272 280 552 | 4 WHAT5 T H 523 586 602 1,188|%r BT 7 T H 1,239 1,612 1, 445 3,057 [#i A HT3 T H 215 276 263 539
B W 2T B 381 407 403 810| T » WEMT6 T H 378 403 423 826|% BT 8 T H 509 629 612| 1,241/ |  4,516| 5,342|  5,390| 10,732
B w3 T A 295 351 342 693 s 9,514 10,718 10,689 21,407|% BT 9 T H 1,002 1,205 1, 101 2,306 —fREL1T H 97 106 106 212
FE4ET1T B 152 156 140 296 | IE 595 651 690 1,341|K )BT 1T H 126 117 112 229| —{RE2T H 317 370 376 746
P45 ET2 T B 93 79 83 162\ EET 1T H 314 405 389 794K JE BT 2 T H 357 390 396 786| _RE3T H 272 311 333 644
P4 ET3 T B 129 151 177 328|% W72 T H 606 701 661 1,362 5 8,688| 10,531 9,610| 20,141| {RE4TH 127 127 146 273
£ L HT 279 267 287 554 |9 BT 3 T H 1,458 1,503 1,442  2,945|W 0BT 1T H 805 910 884 1,794| " {RE5T H 92 116 119 235
N HT 423 434 451 885|% T4 T H 761 805 757 1,562 |30 AT 2 T H 294 382 339 T21[3R H 1T H 75 79 79 158
fip L) 213 213 230 43|k P 1 T H 789 917 875 1,792 ({0 BT 3T H 231 264 269 5333 2 T H 125 145 146 291
1= T 133 121 135 266( K P9 2 T H 331 415 400 815 [T M 4 T H 737 739 715  1,454R 3 T H 121 127 106 233
* F W 175 214 216 430(k 3 3 T H 698 844 865 1,709 ({0 BT 5T H 726 737 727 1,464 |4 & A AT 180 163 200 363
= fF HT 451 472 515 987 |4 A 427 399 475 874\ 0ET6 T H 1,239 1,342 1,312  2,654( & 1 T H 60 51 53 104
K o WE OHT 514 552 569 1,121 |& 52 422 507 544 1,051 (30 BT 7 T H 1,103 1,083 1,144 2,227|# &2 T H 70 76 75 151
W/ kT 317 315 330 645 A B F 1T H 271 328 328 6560 BT 8 T H 793 871 734 1,605|81  f& (L 37 62 76 138
KB HET 518 571 552 1,123k % F2 7T H 244 333 345 678 M9 T H 937 881 962| 1,843 |/h FH 1,573 1,733 1,815 3,548
HinfnE1T B 214 217 240 457(4 s 1 T H 515 740 704 1,444 ({0 BT10T A 880 795 757 1,552|% [ 1T H 394 280 313 593
HmEfnHE2T H 272 305 319 6244 FF 2 T H 115 154 140 294 Ea 7,745|  8,004| 7,843| 15,847|% M 2 T H 86 97 92 189
HmEfiHE3T H 306 373 385 758|454 F 3 T H 326 447 403 850(fk #& 1 T H 179 195 210 4055 [ 3 T H 242 180 177 357
Ft 5,107| 5,470| 5,654| 11,124|4 ¢ 4 T H 573 755 7201 1,475\ #G 2 T H 992| 1,319 1,239 2,558|/h@ K1 T H 88 119 95 214
B AKRTL T H 236 275 284 5594 3 5 T H 471 633 630 1,263|#E 1 3 T H 347 437 438 875|/h& AR2T H 49 57 57 114
By AmT2 T H 365 412 411 823 s 8,916| 10,537| 10,368 20,905|4 H 1 T H 1, 340 1,504 1,500|  3,004|/h&K3T H 176 217 216 433
B KET3 T H 210 275 264 539 F M1 T H 480 448 531 979(4 # 2 T H 991 1,096 1,173 2,269 /N A4 T H 237 184 248 432
El1TH 686 692 708 1L,400|3 F M2 T H 813 777 837 1,614(4 # 3 T H 884 999 974 1,973|/h & K5 T H 75 78 93 171
Ei2TH 728 883 862 L7453 & M3 T H 1,075 1,096 1,088 2,184(4 H 4 T H 0 0 0 O R 1T H 276 190 254 444
EW3TH 388 510 519 1L,029|) & M4 T H 714 680 675 1,355(4 # 5 T H 183 54 162 216|E R 2T A 254 298 289 587
Ei4TH 799 851 960 L8ILIW & M5 T H 976 949 967 1,916 G 4,916 5, 604 5,696 11,300(H R 3 T H 242 188 238 426
EW5TH 525 538 543 L,OSL|IN & M6 T H 394 443 408 851 |/ | 52,608 58,687 57,809 116,496 (/I G 2,119 1,888 2,072 3, 960
E e T H 258 217 304 5214k » M1 T H 416 455 451 9064 1 T H 351 427 391 818|p A 1 T H 245 187 265 452
EW7TH 488 527 473 1,000(#8 » fi2 T H 786 703 822 1,625 2 T H 416 469 486 955(p A 2 T H 389 274 297 571
E 8T H 272 305 303 608|ffi [ BT 1 T H 331 411 387 798|/m 3 T H 436 544 536 1,080k A 3 T H 107 126 126 252
EW9TH 3 4 3 7|6 [ BT 2 T H 710 818 813 1,631 (Ffn HHET LT A 219 263 255 518 A4 T H 63 59 57 116
KHET1TH 308 355 349 704 |fifi fi BT 3 T H 560 591 544 1,135(Ffn HET2T A 285 335 350 685(m A 5 T H 72 71 75 146
RKHEWT2T H 351 333 315 648l [E BT 4 T H 467 452 426 878|#E # 1 T H 152 200 196 396|pk A6 T A 36 45 48 93
RKHEBT3T H 309 404 375 779 Gl 7,722 7,823 7,949 15, 772(HE #F 2 T H 164 196 218 414\ A7 T B 70 84 83 167
K HEWT4T H 304 379 376 75508 BT 1 T H 1,177 1, 425 1,315 2,740|#F %8 3 T H 173 222 211 433|pk A8 T A 99 121 96 217
K HEHBTS T H 306 344 365 7098 BT 2 T H 757 962 811 1,773 |4 %5 4 T H 222 259 255 514 [/ 1,081 967 1,047| 2,014
T WERT 1T H 663 757 762 1,519 #] 3 T H 1,533 1,728 1,515 3,243 |4 # 5 T H 503 624 649 1,273 [H & jr & & 9,289 9,930 10,324 20,254
T WHET2 T H 543 633 612 1,245 B 4 T H 710 821 794  1,615|HE 4 6 T H 513 664 587| 1,251 |& 2 61,897| 68,617| 68,133 136, 750
T WERT3 T H 404 505 439 944 (%t ®T 5 T H 1, 180 1,515 1,383 2,898 |4l A HT 1T H 376 440 442 882
T WERTA T H 467 530 437 967(%¥r BT 6 T H 98 127 126 263|fh AR 2 T H 491 423 551 974




